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辽宁省实验中学2010-2011学年度下学期期中阶段测试

高一英语试卷

考试时间：90分钟 试题满分：150分

命题人：王伟 校对人：杨悦

第Ⅰ卷（选择题，共115分）
第一部分：听力（共两节，满分 30分）

第一节（共 5小题；每一小题 1.5分，满分 7.5分）

听下面 5段对话。每段对话后有一个小题，从题中所给的 A、B、C三个选项中选出

最佳选项，并标在试卷的相应位置。听完每段对话后，你有 10秒钟的时间来回答有关小

题和阅读下一小题。每段对话仅读一遍。

1. What is the relation between the two speakers?
A. Husband and wife B. Doctor and patient C. Salesman and customer
2.What does the man want to do?
A. He wants to know where the computers are.
B. He wants to sell computer disks.
C. He wants to buy computer disks.
3.What are they going to do?
A. To see an exhibition B. To have a meeting C. To attend a lecture
4. Where are the two speakers?
A. In a restaurant B. In a hotel C. In a street
5. What did the boy do before he came home?
A. He played basketball B. He watched a game C. He went to school
第二节（共 15小题；每小题 1.5分。满分 22.5分）

听下面 5段对话或独白。每段对话或独白后有几个小题，从题中所给的 A、B、C三

个选项中选出最佳选项，并标在试卷的相应位置。听每段对话或独白前，你将有时间阅读

各个小题，每小题 5秒钟；听完后，各小题将给出 5秒钟的做答时间。每段对话或独白读

两遍。 听第 6段材料，回答第 6至 8 题。

6. Where does the conversation take place?
A. In a restaurant B. In a clinic C. At a dentist’s
7. What’s wrong with the man?
A. He has been suffering a stomachache for 2 days.
B. He has been using the restroom over 5 times a day
C. He has not eaten anything for several days
8. How is the man’s temperature?
A. A little bit lower B. Normal C. A little bit higher
听第 7段材料，回答第 9至 11 题。

9. Where does the woman get off ?
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A In River Street B. In front of the hotel C. At the bus stop
10. What are they talking about?
A. The dirty car B. The heavy traffic C. The weather
11. How much does the woman pay?
A. Eighty-five cents
B. One dollar
C. One dollar and fifteen cents
听第 8段材料，回答第 12至 14题。

12. Why doesn’t the man book the seats downstairs?
A. Too expensive B. Too close to the stage C. Uncomfortable
13. When does the man plan to see the performance?
A. Next Saturday B. On October 21st C. On October 25th

14. How much does each ticket cost?
A. $10 B. $3.75 C. $ 2.50
听第 9段材料，回答第 15至 17 题。

15. Why does the woman have to put off the meeting?
A. Because she couldn’t get in touch with her cousin.
B. Because she has another more important meeting.
C. Because her plane is delayed by the fog.
16. What does the woman ask Mr. Smith to do?
A. To find out her cousin’s telephone number for her.
B. To send her cousin a message.
C. To attend her cousin’s party.
17. What are they going to do on Thursday?
A. To meet each other.
B. To attend Alfred Blake’s party.
C. To have a meeting.
听第 10段材料，回答第 18至 20 题。

18.Where did the traffic accident happen?
A. In New York City
B. In the town
C. On Highway 37.
19. How many people were killed in the accident?
A. 32 B.46 C. 33
20. What can we infer from the News report?
A. The accident occurred at 11:30 p.m.
B. The rain and the many curves（弯曲处）of the road may be the cause of the accident.
C. The number of the dead in the accident will rise.
第二部分：英语知识运用
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第一节 单项填空（共 15小题，每小题 1分，满分 15分）

从 A、B、C、D四个选项中， 选出可以填入空白处的最佳选项, 并涂在卡上的相应位置。

21. In our class, the student class leaders are on _____ duty every _____ few days.
A. the; a B. /; a C. /; / D. the; /
22. Her shoes ______ her dress; they look very well together.
A. suit B. fit C. compare D. match
23.This group of children are very curious about ______ used to be called dinosaurs.
A. where B. what C. which D. that
24. Prices of daily goods ______ through a computer can be lower than store prices.
A. are bought B. bought C. being bought D. buying
25. Ladies and gentlemen, please fasten your seat belts. The plane ______.
A. takes off B. is taking off C. has taken off D. took off
26. ______ the large amount of time devoted to doing exercises every day, many students do not
do their lessons carefully.
A. Because of B. Instead of C. Despite D. Though
27. I can’t ______ to London, because the lines are always busy.
A. get out B. get through C. go through D. get along
28. If a shop has chairs ______ women can park their men, women will spend more time in the
shop.
A. that B. where C. from which D. which
29. ---There were already five people in the car, but they managed to take me as well.

---It _____ a comfortable journey.
A. can’t be B. shouldn’t be C. must have been D. couldn’t have been
30. ______ be sent to work there?
A. Who do you suggest B. Who do you suggest that should
C. Do you suggest who should D. Do you suggest whom should
31. He _____ football regularly for many years when he was young.
A. was playing B. played C. has played D. had played
32. He has ______ letters to answer. He has to work from morning to night.
A. much B. a great deal of C. masses of D. the number of
33. This box is ______ that one. Which isWRONG?
A. four times so big as B. four times the size of
C. four times bigger than D. four times as big as
34. So much of interest ______ that most visitors simply run out of time before seeing it all.
A. offers Beijing B. did Beijing offer
C. does Beijing offer D. Beijing does offer
35. --- I can’t thank you enough for the help you gave me.

--- ______.
A. With pleasure B. No, thanks C. Please don’t say so D. My pleasure
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第二节： 完型填空 （ 共 20小题；每小题 1.5分，满分 30分 ）

阅读下面短文，掌握其大意，然后从每题所给的 A、B、C、D四个选项中，选出最佳

选项，并在答题卡上将该项涂黑。 Ks5u

As I drove my blue Buick into the garage, I saw that a yellow Oldsmobile was 36 too
close to my space. I had to drive back and forth to get my car into the 37 space. That left
38 enough room to open the door. Then one day I arrived home 39 , and just as I turned off
the engine, the yellow Oldsmobile entered its space --- too close to my car, 40 .

At last I had a chance to meet the driver. My patience had 41 and I shouted at her,
“ Can’t you see you’re not 42 me enough space ? Park farther over.” Banging ( 猛推 )
open her door into 43 , the driver shouted back.. 44 this she stepped out of the garage. Still,
each time she got home first, she parked too close to my 45 . Then one day, I thought , “ What
can I do ? ” I soon found 46 . The next day the woman 47 a note on her windshield : (挡风

玻璃)
Dear Yellow Oldsmobile ,

I’m sorry my mistress ( 女主人) shouted at yours the other day. She’s been sorry about it. I
know it because she doesn’t sing any more while 48 . It wasn’t like her to scream 49 .
Fact is, she’d just got bad news and was taking it out on you two. I 50 you and your
mistress will 51 her.

Your neighbor,
Blue Buick

When I went to the 52 the next morning, the Oldsmobile was gone, but there was a
note on my windshield:
Dear Blue Buick,

My mistress is sorry, too. She parked so 53 because she just learned to drive. We will
park much farther over after this. I’m glad we can be 54 now.

Your neighbor,
Yellow Oldsmobile

After that, whenever Blue Buick 55 Yellow Oldsmobile on the road, their drivers
waved cheerfully and smiled.
36. A. driven B. parked C. stopped D. stayed
37. A. complete B. close C. narrow D. fixed
38. A. quite B. nearly C. seldom D. hardly
39. A. hurriedly B. first C. finally D. timely
40. A. as usual B. as planned C. as well D. as yet
41. A. run into B. run about C. run out D. run off
42. A. keeping B. saving C. offering D. leaving
43. A. mine B. hers C. itself D. ours
44. A. For B. With C. From D. Upon
45. A. room B. area C. front D. side



高一英语 共 10 页 第 5页

46. A. an instruction B. a result C. an answer D. a chance
47. A. put B. wrote C. sent D. discovered
48. A. working B. driving C. returning D. cooking
49. A. on end B. so long C. like that D. any more
50. A. hope B. know C. suppose D. suggest
51. A. comfort B. help C. forgive D. please
52. A. office B. flat C. place D. garage
53. A. crazily B. eagerly C. noisily D. early
54. A. neighbors B. friends C. drivers D. writers
55. A. followed B. passed C. found D. greeted
第三部分 阅读理解 （ 共 15小题； 每小题 2 分，满分 30分）

阅读下面短文，从短文后各题所给的四个选项中，选出最佳答案。

A
Suppose a key man in your firm had just met with a terrible accident. The doctor tells you

that this man upon whom you depend for directing sales, checking your books ( 账目 )or for
performing some other important roles, will be laid up for months. You’d have to replace him,
wouldn’t you? And probably at a pay about equal to his?

Then you’d be faced with double paying for one job because stopping the pay of an injured
man would simply be out of the question.

You can prevent this kind of unproductive outgoings ( 支出 ) on your payroll by providing
your key man with the protection of Travelers Business Accident Insurance!

This insurance provides total medical expense and a weekly income in case a key man is
disabled for some time. Should the disability prove everlasting, an income for life is certainty.
Why not make out a list of your key man now? Then get together with Travelers Insurance
Company, and let us tell you how little it costs to apply this much needed protection to your
business.

Write and we’ll serve you!
56. The passage is most probably a(n) ______.

A. report B. letter C. announcement D. advertisement
57. What is really TRUE according to the passage?

A. Travelers Insurance Company provides services of accident insurance.
B. An important person of the firm has just had an accident.
C. Accident Insurance will protect the important person from accidents.
D. Unfortunately the important person has become disabled.

58. Whom might the writing be mainly for ?
A. An important person in a firm
B. An employee of a firm
C. The boss of a company
D. Readers of a newspaper
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59. Travelers Insurance Company ______ for a person insured.
A. will pay for all the cost of treatment
B. will pay the weekly income or event that of lifetime
C. won’t get much from the firm
D. will provide everlasting pension as well as medical expense

B
“Come in, Kim. Have a seat, please, ” said Bill Williams, the manager. This was Kim’s first

experience with an assessment. After only six months he was due for a raise if this assessment
was satisfactory.

“Kim,” began Bill William,“ I’m very pleased with the quality of your work. I have nothing
but praise for your devotion and your hard work. My only concern is that you are not active
enough in putting forward your suggestions.”

“But,” replied Kim, “I have always completed every assignment you have given me, Mr.
Williams.”

“I know that, Kim. And please, call me Bill. But what I expect is for you to think
independently and introduce new ideas. I need more input from you--- more feedback on how
things are going. I don’t need a “yes man”. You never tell me what you think. You just smile as
though everything is fine.”

“But,” said Kim, “ I feel that since you are my superior, it would be presumptuous of me
to tell you what to do.

“I’m not asking you to tell me what to do, but what you think we could do. To make
suggestions, I employed you because I respect your experience in this field, but you are not
communicating your thoughts to me.”

“ Yes, I see. I’m not accustomed to this, but I will try to do as you say…Bill.”
“Good then. I expect to hear more from you at staff meetings or at any other time you want

to discuss an idea with me.”
“Yes, of course. Thank you, Mr. Mill…Bill.”

60. Kim is the sort of employee who_______.
A. does not speak out his own ideas B. is not devoted to the job
C. laughs too much over work D. can not finish his work on time
61. The word “presumptuous” in the middle of the passage is closest in meaning to “_____”.5 V- B; S9 s; r4h3

A. full of respect B. too confident and rude, `0 J; r0 k8 Z P

C. lacking in experience D. too shy and quiet
62.From the passage we can learn that______________.# ~' c& n#

A. Kim has been invited to take charge of the staff meetings7 E+ g! Q9 \2 t$ N* n# M8

B. the manager appreciates those who just do that he tells them to do$ j( H% }2 n. F: t; @

C. the manager is pleased with Kim’s hard work and his suggestions
D. Kim is likely to have a higher salary if he can pass the assessment3
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C
The house was quiet at 5 am and Tim’s mother was asleep. Only the sound of the big

freezer broke the quiet. He’d dreamt the cave last night. The purring (轻微颤动声) of the freezer
had been the sea.

Tim pulled on a sweater and put some apples into his schoolbag. It was too early for
breakfast. He’d eat after he’d been through the cave, sitting on the rocks and staring at the sea.

He wished he had a proper pack. His schoolbag would have to do. What else?
Sandwiches--but his mother might wake up if he started pulling out bread for sandwiches, she’d
want to know why he had to leave so early. He settled for some biscuits, and left a note stuck to
the table:

Gone to Michael’s. Back tonight, Tim.
The sky was high and soft and light outside, though the sun still wasn’t up. Even the

highway up the hill was quiet as he made his way down the street. The wind from the sea was
fresh and sweet.

The sand hills still breathed heat from yesterday’s sun, though the top of the sand was cool.
He ran down to the beach impatiently, but there was no one, just dry sand dancing in the early
wind and seabirds marching up and down watching the waves.

The light changed suddenly. The first rays of sunlight stretched (延伸) across the sea. The
sun was pushing its way over the edge of the world.

Over the first rocks, along to the point. Tim glanced back. The beach was still empty. The
sun sailed higher in the sky.

He could see the cave now, even darker in the morning light. The sand turned silver then
dark gold as the water flowed away from it. He had to force himself to go closer. Why was it so
much more mysterious (神秘的 ) now? But it would be silly to go back now after so much
trouble. He needn’t go in all the way...
63. What did Tim do at the beginning of the story?
A. He left the house quietly. B. He had breakfast at home.
C. He left a note on the freezer. D. He put a sweater in his schoolbag
64. “He settled for some biscuits” (in Paragraph 3) means that Tim _____.
A. had to leave the biscuits on the table B. liked biscuits better than sandwiches
C. had to take biscuits instead of sandwiches D. could only find some biscuits in the kitchen
65. What made it possible for Tim to see the entry to the cave?
A. The height of the first rocks. B. The ups and downs of the waves.
C. The change in the position of the sun. D. The vast stretch of the sunlit beach.
66. In the story, Tim’s mood (心情) changed from_________.
A. loneliness to craziness B. anxiousness to excitement
C. helplessness to happiness D. eagerness to nervousness
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D
She is a cute, quiet girl. As a daughter, she has no secrets from her mother, who is very

pleased with her. But recently she has become somewhat mysterious, not so open as before. She
has a diary that she keeps under lock and key. Her mother cannot help worrying about her: what
if she falls in love, which is too early for a girl of her age. After all she is reaching the
“dangerous stage”. These thoughts have caused trouble in the mother’s mind.

One weekend the girl came to tell her mother that she was going to the cinema with her
schoolmate and would return late. This was the first time her mother agreed, and she couldn’t
help worrying because her daughter had never been away at night before. The mother waited till
nine and her uneasiness got the upper hand over her. She decided to go out to meet her daughter.

Just at that moment the noise of a car pulling up drew her to the window and there was her
daughter, waving goodbye to a boy. Her heart missed a beat. When the girl came in, the mother
was watching TV, pretending nothing had happened. “Mum, I’m back!” “Yeah.” “Sorry to be
late. Still sitting up? ” “Yes. Oh, that …Who’s that boy?” The daughter was stunned (发愣) for a
moment. “Ah. It’s my monitor. He gave me a lift on his way home. Mum, I’m going to bed.”
“ All right. Go to sleep early.”

Next morning when the mother went to the daughter’s room to do some tidying, she found
her diary left at her pillow. After a few minutes’ hesitation she eventually opened it to the entry
of the night before. It reads: Mum, it’s love that made you ask, but it would show your
understanding of me if you hadn’t.

Holding the diary, the mother fell in thought.
67. Which is the correct order according to the story?

A. She took a lift back in her monitor’s car.
B. She went to see a film with her classmate.
C. She wrote a diary to her mother.
D. Her mother pretended to watch TV.
E. Her mother worried about her daughter’s returning late.
A. b, e, a, d, c B. e, b, a, d, c C. b, a, e, d, c D. b, e, a, c, d

68. Which of the following is TRUE according to the story?
A. The girl knew her mother would ask her the question about the boy.
B. What the daughter did recently worried her mother.
C. The mother was eager to read her daughter’s diary the next day.
D. The girl’s diary was always unlocked.

69. The main purpose of this article is to show that parents should ______.
A. care about what their children really think and feel
B. not give much freedom to their children
C. talk with their children about their early love
D. keep silent about their children’s privacy

70. Which can be the best title for this story?
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A. Mother’s True Love B. Early Love Between students
C. ToAsk Or Not To Ask D. Dangerous Age

第二节（共 5小题；每个小题 2分。满分 10分）

根据短文内容，从短文后的选项中选出能填入空白处的最佳选项。选项中有两项为多余选

项。

When I was a child, I often dreamed of the time when I could leave home and escape to the
city. We lived on a farm. In winter we were quite cut off from outside world. As soon as I left
school, I packed my bags and moved to the capital. 71

72 It costs so much to go out, not to mention basics like food and housing. Another
disadvantage is pollution, I suffer from a kind of throat illness, and the air is so bad that I am
afraid to go outside. 73 Although I have a car, I seldom use it because of the traffic jams. One
choice is to go by bicycle, but that can be quite dangerous.

74 First, there is so much to do in the city, whatever taste in culture or entertainment.
Besides, there are wonderful jobs and greater chances of moving to a more important job or
position. Finally, if you like shopping, the variety of goods is very surprising--- and, what is
more, shops are often only a short walk away.

Is life better then, in the city? Perhaps it is, when you are in your teens or twenties.
However, as you get older, the peace of the countryside may seem preferable. 75
A. One big disadvantage is money.
B. Of course there are advantages.
C. Besides, I was used to the city life.
D. Then there is the problem of traveling round.
E. I can remember the life on the farm forever.
F. I certainly hope to move back to the countryside soon.
G. However, I soon discovered that my life had its disadvantages too.

第Ⅱ卷（非选择题，共 35 分）
第四部分：写作（共两节，满分 35 分）

第一节：短文改错（共 10 小题；每小题 1 分，满分 10 分）

假定英语课上老师要求同桌之间交换修改作文，请你修改你同桌写的以下作文。文中共有

10处语言错误，每句中最多有两处。错误涉及一个单词的增加、删除或修改。

注意：1. 每处错误及其修改均仅限一词；

2.只允许修改 10处，多者（从第 11处起）不记分。

Tom saw an advertisement on a newspaper for a bicycle. Then he went to the shop
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where had put the advertisement on and ask to see one of the wonderful bicycles. The

shopkeeper was very happy to show one to Tom, who examined it carefully, saying, “There

isn't a lamp on this bicycle, and there is one on the bicycle in your advertisement. “Yes, sir,”

answered a shopkeeper, “but the lamp isn't including in the price of the bicycle. It's an

extra.” “Not included?” Tom said angrily. “But that's not honest. If the lamp is in the

advertisement, there should have been included in the price you give it.” “Well, sir,”

answered the shopkeeper calm, “there is a girl on the bicycle in our advertisement, but we

don't supply one of them with the bicycle too.”

第二节书面表达（满分 25分）

最近，你校同学正在参加某英文报组织的一场讨论。讨论的主题是：公园要不要收门

票?请你根据下表所提供的信息，给报社写一封信，客观地介绍讨论情况。你的署名是李

华。

60％的同学认为 1．不应该收门票 2.公园是公众休闲的地方 3.如收门票，需建大门、

围墙，会影响城市形象。 40％的同学认为 1．应收门票，但票价不要太高 2．支付园林

工人工资 3．购新花木

注意：1．信的开头已为你写好。

2．词数：100左右。

Dear editor,
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高一英语参考答案

1-5 ACCBA 6-10 BACAB 11-15 BABCC 16-20 BCCCB

21-25 CDBBB 26-30 CBBDA 31-35 BCACD

36-40 BCDBA 41-45 CDABD 46-50 CDBCA 51-55 CDABB

56-59. DACC 60-62. ABD 63-66.ACCD 67-70. ABAC

71-75 GA D B F

短文改错：1. on in 2. where which/ that 3. ask asked 4. and but
5. a the 6. including included 7. there it 8. you give 后 it 去掉

9. calm calmly 10. too either

Dear editor,
I’m writing to tell you about the discussion we have had about whether an entrance fee

should be charged for parks. 60% of us schoolmates think that an entrance fee do not meet
people’s expectations, for a park is considered to be a place where the public can have a good
time when they are not busy either at home or at work. If an entrance fee must be paid by the
visitors for a park, it will be necessary to build a gate and surrounding walls. In the end a city
will take on a bad look. 40% of us schoolmates think that an entrance fee can be accepted, but it
must not be too expensive. The money from ticket selling can be used for paying the gardeners
in the park and buying some other kinds of flowers and trees.

With regard to myself, I think an entrance fee is useful, for it can be used to protect a park.
Do we share the same opinion, dear editor?

Yours truly,
Li Hua


